A 3 M A
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= PSS
B . ok (3 ) - Aol G HREZ
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| 653,445
= 39,860
= 13,546,327
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= 5,735, 100
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mE: 2,424,240
=X 38,400 38,400 0
308 X% 38,400 38,400 0
01 XX 38,400 38,400 0
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SN SAEMY

HH: SRR NH(SEHS AL/ 5 - &)

Sel: ASIHEXI (oA
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

= 816,600
= 11,757,000
< 3,564, 144

=MESEYEISES 703,000 780,000 AT7,000
z 550,000
= 153,000

403 X SHHE K20l & 703,000 780,000 AT7,000
2 550,000
= 153,000

01 RXSHAR=LE 703,000 780,000 AT7,000
OsMsE=HESEs 703,000
o 550,000
= 153,000

SENSNSANREHEXN 249,984 223,200 26,784
= 201,600
< 48,384

308 XXl EHHISOIH 249,984 223,200 26,784
= 201,600
= 48,384

01 IXESHBAREES 249,984 223,200 26,784
SEHENSARENEX 249,984
= 201,600
= 48,384

SEMNASH(2AAH) 7,552,000 6,018,000 1,534,000
= 6,400,000
< 1,152,000

308 XiXIEHHISOIH 3,776,000 3,009,000 767,000
z 3,200,000
= 576,000

01 IXESHBAREES 3,776,000 3,009,000 767,000
O8EMASE(ZHAH) 3,776,000
2 3,200,000
= 576,000

403 REXIEHHS =01 A 3,776,000 3,009,000 767,000
= 3,200,000
< 576,000

01 RXISHR=EE 3,776,000 3,009,000 767,000
OSEMASHE(ZHAH) 3,776,000
2 3,200,000
= 576,000

SXOHS QLS DALY 5,672,260 0 5,672,260
2 4,807,000
= 865,260

403 REXIEHHS =01 A 5,672,260 0 5,672,260
= 4,807,000
[ 865,260




SH: SEHMY
BE: SARXINL(SPHS AL /5 - 5E)
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el ASIHEXA (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
01 UXSHHH=2EE 5,672,260 0 5,672,260
O K0S HEIIAY 5,672,260
= 4,807,000
[ 865,260
CSNREHE 50,000 1,700,000 1,650,000
307 QI2HOIA 50,000 40,000 10,000
02 UAHATZ 50,000 40,000 10,000
OE=suFEdsti 50,000
AR SENGE AL 20,000 20,000 0
307 QI2HOIA 20,000 20,000 0
02 ItAASE X 20,000 20,000 0
OAI0sEME 228 L3t 20,000
ASHSXAEA 63,500 23,500 40,000
201 ety 8,500 8,500 0
01 AtR22lH 8,500 8,500 0
mETEIE=] 7,000
OsELSHEAMBLE RO 7,000
O3 2| 1,500
O=sgZ2UEXNRIFTEZA 1,500
202 04l 10,000 10,000 0
01 ZLHOIHI 10,000 10,000 0
s =20E U7X =8O 10,000
203 HRF&HI 5,000 5,000 0
03 AlZEXYREY 5,000 5,000 0
OsHAUASSUHFA 5,000
207 4RO 40,000 0 40,000
01 &S| 40,000 0 40,000
JZ=SgsEaZ T2 8L ARES 40,000
SOHEASKALZEY 1,080,000 720,000 360,000
403 RHXIEHHIS XH20I& 1,080,000 720,000 360,000
01 MXISHH=EX 1,080,000 720,000 360,000
OsHEASAHALY=E=SS
250,000, 0009 * 1874 2 x24/100 1,080,000
SOESRIX 78,000 52,000 26,000
= 60,000
= 18,000
308 X XISHHSOIN 78,000 52,000 26,000
= 60,000
= 18,000
01 UHXSHHBAEES 78,000 52,000 26,000
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SA- RO (3) - MEAY - BES Aro e 2

OsHESHAE 78,000
= 60,000
= 18,000

MESSUTH 494,000 520,000 A26,000
2 380,000
& 114,000

403 X SHMSA201H 494,000 520,000 A26,000
2 380,000
& 114,000

01 AXEMI=E =X 494,000 520,000 A 26,000
Al 2atE2tEd 494,000
= 380,000
= 114,000

SHESSHIMEHESX 175,000 0 175,000
= 175,000

308 AXIHMSOIA 175,000 0 175,000
= 175,000

01 MAXEHMBLEXS 175,000 0 175,000
OsHESSsHal A2 KI& 175,000
= 175,000

SXl2el 671,445 614,174 57,271
| 653,445
& 18,000

SAol S22 K& 653,445 596,174 57,271
| 653,445

308 AUXIHHMSOIA 653,445 596, 174 57,271
J| 653,445

01 AXSMIBAEEXS 653,445 596,174 57,271
OsXolE2e K&l 653,445
J| 653,445

sk2eHRFH 18,000 18,000 0

201 Yereo| 8,000 8,000 0

01 AtR2t2ldl 8,000 8,000 0
g er=Zd| 6,500
ONE=sXgusdgddsol 6,500
= &l 1,500
OsX&eaR2FRSA 1,500

202 O4dl 10,000 10,000 0

01 =LHA b 10,000 10,000 0
OsXlzZeldRF=80dl 10,000

SAMHUET (SHHS /5 - &) 3,692,000 3,077,000 615,000

SEUMFE 3,692,000 3,077,000 615,000
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A SREM
HH: HHIZH (L Z D) (JIEHDIIEH
chel: ol 2oyl (el m
S - HB O (B) - HRAY - AR Aol e 2
O=xs=g 38,8503 x1H «52 2,021
(@)uPNE=, 38,8503 x1H x 15 583
QusS=2=H| 60,0003 x 1 +12& 720
OZESItt| 150, 0002 * 1 G »23| 300
=&l 115,900 121,900
Jl2Z | 115,900 121,900
201 Let243| 26,500 32,500
01 AtE22|Hl 14,500 14,500
Oger=Zd| 13,000
OF=F=PNEPNI=Fode] 13,000
=&l 1,500
OsEAMHZFEZA 1,500
02 =234l 12,000 18,000
O=23a3ZHA 10,000
O=MASA IR (FA0)SIHIZE 2 10,000
A& & dl = Xl 2,000
OMEEDIDI 2,000
202 (4 H| 18,000 18,000
01 =LA b 18,000 18,000
OsEAMBEHSZA0 18,000
203 HRF&H| 34,800 34,800
01 J|22IFRF&H| 6,600 6,600
0= 6,600
04 EARIZRFEHI 28,200 28,200
1300l ot 350,000& 6 £ M +12& 25,200
150l ot 250,000& 1 2 A+ 12& 3,000
204 XA 36,600 36,600
01 g FRaHF | 36,600 36,600
0= 600,000& x1H «12& 7,200
e 350,000 x7H «12& 29,400
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